Timely Practice exchange rate strand 2 new learning questions

You should use a calculator

1. Som went to Czech Republic.
Som bought trainers in Czech Republic.

The cost of the trainers in Czech Republic was 820 korunas.
The exchange rate was £1 = 35.9472 korunas.

Work out the cost of the trainers in pounds.

2. Oliver went to America.
The cost of his hotel in America was $320
The exchange rate was £1 = $1.9579.

Work out the cost of his hotel in pounds.

Give your answer to the nearest pence.

3. Tristan went to Ireland he hired a car.

The cost of the car hire was 570 euros.
The exchange rate was £1 = 1.384 euros.

Work out the cost of the car hire in pounds.

Answers 1) 22.81  2) 163.44  3) 411.85
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